	
	1 causal SNP

(R=1.5)
	Dominant (R=2.0)
	Recessive

(R=2.0)
	2 causal SNPs

(R=1.5)
	2 causal SNPs

(R=1.5, Δ>0.4)

	ATT
	25.73 (0.380)
	22.92

(0.370)
	24.07

(0.382)
	26.67

(0.401)
	31.39

(0.520)

	SNP1
	25.10 (0.363)
	20.84

(0.330)
	24.89

(0.393)
	26.00

(0.384)
	28.65

(0.450)

	ADM
	3.14  (0.008)
	2.99

(0.013)
	2.93

(0.009)
	4.91

(0.033)
	12.53

(0.164)

	SUM
	28.23 (0.356)
	23.83

(0.332)
	27.81

(0.387)
	30.91

(0.406)
	41.18

(0.615)

	MIX
	27.08 (0.413)
	22.64

(0.366)
	26.68

(0.423)
	28.18

(0.434)
	35.30

(0.590)


